.+

pi /pi

Ratio to LHCB

1.8

1.6

1.4

1.2

0.8

0.6

nA

0.5

900 GeV pp Soft QCD
= I A L L L L L B =
c
I - o
o /Tt vs |y|(0.8 < p_<1.2GeV) 4>
N 13
-~ m LHCB S
| --d-- Herwig 7.2.0 default N
— —a— Pythia 8.201 default —<
- ¢ Sherpa 2.1.1 default )
5 12
— —
B 2l
- 4™
®
- — M
L _|w
o
- — M
—
B 1=
- <
— —
— -
B 19
c
- @
- — o
)
B 19
B 1 &
| _]1 O
T N O N N O R I B
— =2
m"——" """""""""" T'T'T'%T'T'T'T"_'T' """"" ——E"“——-————-? 1
L —0.5
I T T T I R T T I R T T I R T T l
2.5 3 3.5 4 4.5



	Contents
	Page 1


